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I. A, B, C, D, E, F, G and H are sitting in a row facing 
North 

II. A is fourth to the right of E. 
III. H is fourth to the left of D. 
IV. C and F, who are not at the ends, are neighbours of B 
and E, respectively. 
V. H is next to the left of A and A is the neighbour of B.

1. A, B, C, D, E, F, G और H एक पंक्ति में उत्तर की ओर मखु
करके बैठे हैं

2. A, E के दायें चौथा है।
3. H, D के बायें चौथा है।
4. C और F, जो सिरों पर नह ं हैं, क्रमशः B और E के पडोिी हैं।
5. H, A के बाईं ओर है और A, B का पडोिी है।
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What is the position of F? 
(a)Next to the right of E 
(b) Next to the right of G 
(c) Sixth to the right of D 
(d) Between G and H 
(e) None of above

Which of the following statements is not true? 
(a)G is the neighbour of H and F 
(b) B is next to the right of A 
(c) E is at left end 
(d) D is next to the right of B 
(e) None of above

Who is/are the neighbour/(s) of D? 
(a)F alone (b) C alone (c) B and C (d) Cannot be 

determined 
(e) None of above

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Which of the following statements is not true? 
(a)H is second to the right of F 
(b) E is fourth to the left of A 
(c) D is fourth to the right of H 
(d) All are true 
(e) None of above

Who are sitting at the ends? 
(a)E and C 
(b) F and D. 
(c) G and B 
(d) Data inadequate 
(e) None of above
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Six Horse i.e. P, Q, R, S, T and U are 
standing in a row facing north at a 
distance which is a successive multiple of 
6 in an increasing order from the left to 
right.
Horse S is standing second from one of the 
extreme end. Only two horses stand 
between the S and T. Two horses stand 
between R and P who does not stand 
adjacent to S. U stands right of Q, who 
does not stand next to P. Neither R nor S is 
not an immediate neighbour of Q. Total 
distance between the horse P and Horse S 
is 54. Now, horse U is moving towards 
North direction and after going 10m, it 
turns to right and goes 15m to reach at 
point Y. Horse R is moving towards South 
direction and after going 15m it takes right 
turn and goes 51m to reach at point Z.

छ: घोडे अथााि P, Q, R, S, T और U एक पंक्ति
में उत्तर की ओर मखु करके कुछ दरू पर खडे हैं
जो बाएं िे दाएं बढ़िे क्रम में 6 का क्रसमक गणुज
है। घोडा S ककिी एक अंतिम छोर िे दिूरे स्थान
पर खडा है। S और T के बीच केवल दो घोडे खडे
हैं। R और P के बीच दो घोडे खडे हैं जो S के
आिन्न नह ं खडे हैं। U, Q के दायें खडा है, जो P 
के बगल में नह ं खडा है। न िो R और न ह S, Q 
का तनकटिम पडोिी नह ं है। घोडे P और घोडे S 
के बीच की कुल दरू 54 है। अब, घोडा U उत्तर
ददशा की ओर बढ़ रहा है और 10मी जाने के बाद, 
वह दायें मडुिा है और बबदंु Y पर पहंुचने के सलए
15मी जािा है। घोडा R दक्षिण ददशा की ओर बढ़
रहा है और जाने के बाद 15मी वह दायें मडुिा है
और बबदंु Z पर पहुचने के सलए 51मी जािा है.
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Six Horse i.e. P, Q, R, S, T and U are standing in a 
row facing north at a distance which is a 
successive multiple of 6 in an increasing order 
from the left to right.
Horse S is standing second from one of the 
extreme end. Only two horses stand between 
the S and T. Two horses stand between R and P 
who does not stand adjacent to S. U stands 
right of Q, who does not stand next to P. Neither 
R nor S is not an immediate neighbour of Q. 
Total distance between the horse P and Horse S 
is 54. Now, horse U is moving towards North 
direction and after going 10m, it turns to right 
and goes 15m to reach at point Y. Horse R is 
moving towards South direction and after 
going 15m it takes right turn and goes 51m to 
reach at point Z.
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What is the shortest distance between Point Y and point Z?
(a) 20m
(b) 25m
(c) 18m
(d) 30m
(e) None of these

In which direction point Y is with respect to point Z?
(a) North
(b) North west
(c) North east
(d) South west
(e) None of these

What is the total distance between Horse S and 
Horse T?
(a) 54m
(b) 80m
(c) 72m
(d) 36m
(e) None of these
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If Horse Q moves 10m in north to reach point X, then 
what is the shortest distance between point X and point 
Y?
(a) 54m
(b) 69m
(c) 47m
(d) 65m
(e) None of these

What is total distance between horse Q and Horse R?
(a) 106m
(b) 96m
(c) 120m
(d) 118m
(e) None of these
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Eight persons J, K, L, M, N, O, P and Q are 
sitting in a linear row some of them facing 
towards the north and some of them facing 
towards south but not necessary in the 
same order. Not more than two consecutive 
persons face same direction.
N sits second to the right of J. Q sits second 
to the left of N. Two persons sit between Q 
and P. More than three persons sit between L 
and O. The persons sit on extreme ends face 
opposite direction to each other. M sits 
second to the right of P. N is not immediate 
neighbor of M, who sits third from one of the 
extreme ends of row. O is not immediate 
neighbor of N and M. O face south direction. 
J sits immediate right of M. L face opposite 
direction to Q.

आठ व्यक्ति J, K, L, M, N, O, P और Q एक रैखखक
पंक्ति में इि प्रकार बैठे हैं िाकक उनमें िे कुछ उत्तर 
की ओर उन्मुख हैं और उनमें िे कुछ दक्षिण की 
ओर उन्मुख हैं लेककन आवश्यक नह ं कक िभी 
िमान क्रम में हों। दो िे अधिक क्रसमक व्यक्ति 
िमान ददशा की ओर उन्मुख नह ं हैं।
N, J के दाएं िे दिूरे स्थान पर बैठा है। Q, N के 
बाएं िे दिूरे स्थान पर बैठा है। Q और P के मध्य 
दो व्यक्ति बैठे हैं। L और O के मध्य िीन िे 
अधिक व्यक्ति बैठे हैं। अंतिम छोर पर बैठे व्यक्ति 
एक-दिूरे की ववपर ि ददशा की ओर उन्मुख हैं। M, 
P के दाएं िे दिूरे स्थान पर बैठा है। N, M का 
तनकटिम पडोिी नह ं है, M जो पंक्ति के ककिी 
एक अंतिम छोर के िीिरे स्थान पर बैठा हैं। O, N 
और M का तनकटिम पडोिी नह ं है। O दक्षिण 
ददशा की ओर उन्मुख है। J, M के ठीक दाएं स्थान 
पर बैठा है। L, Q के ववपर ि ददशा की ओर उन्मुख 
है।
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Eight persons J, K, L, M, N, O, P and Q are sitting in a 
linear row some of them facing towards the north 
and some of them facing towards south but not 
necessary in the same order. Not more than two 
consecutive persons face same direction.
N sits second to the right of J. Q sits second to the left 
of N. Two persons sit between Q and P. More than 
three persons sit between L and O. The persons sit on 
extreme ends face opposite direction to each other. 
M sits second to the right of P. N is not immediate 
neighbor of M, who sits third from one of the extreme 
ends of row. O is not immediate neighbor of N and M. 
O face south direction. J sits immediate right of M. L 
face opposite direction to Q.
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Who among the following person sits second to 
right of O?
(a)M
(b)P
(c)J
(d)K
(e)None of these

Who among the following person is immediate 
neighbor of P and J?
(a) L
(b) M
(c) K
(d) Q
(e) None of these
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Four of the following five are alike in certain way based 
from a group, find the one that does not belong to that 
group?
(a) Q
(b) N
(c) K
(d) J
(e) P

How many persons sits on the right of M?
(a) One
(b) More than Four
(c) Three
(d) Four
(e) None
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Statements: O<Q=V=D>W>G=Y≥J>K
Conclusion I: W>K II: D>O

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

Statements: Q≥C>R=P>F<E>M≤O
Conclusion I: Q<E II: F<R

Statements: W>P =Z>J <G≥I>O≥T=Q >S
Conclusion I: G≤W II: W>G
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(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

Statements: W>G=H≤B>S=D>N≥M
Conclusion I: G<B II: M<S

Statements: Y<T=X≥B>N=D>H≥J
Conclusion I: Y<X II: J≤X
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Point A is 13m west of point B. Point D is 4m south of point B. Point C is east of 9m of 
point M. Point T is 12m west of point D. Point Y is 16m north of point C. Point Y is 2m west 
of point A. बबदं ुA, बबदं ुB के 13मी पक्श्चम में है. बबदं ुD, बबदं ुB के 4मी दक्षिण में है. बबदं ुC, बबदं ुM के 
9मी पूवा में है. बबदं ुT, बबदं ुD के 12मी पक्श्चम में है. बबदं ुY, बबदं ुC के 16मी उत्तर में है. बबदं ुY, बबदं ुA के 
2मी पक्श्चम में है.

Point Y is in which direction with respect to D?
(a) North-East
(b) East
(c) West
(d) North-West
(e) None of these
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If Point K is 3m east of point C then what is the 
shortest distance between Point T and Point K?
(a) 18m
(b) 12m
(c) 9m
(d) 7m
(e) None of these

What is the direction of C with respect of T?
(a) North-west
(b) South
(c) North-east
(d) West
(e) None of these

In which direction of Point A with respect to Point T?
(a) North
(b) North-east
(c) East
(d) North-west
(e) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

‘Great leaders are kings’ is coded as ‘lr mr kr cr’
‘Slaves are great soldiers’ is coded as ‘pr cr zr mr’
‘Weak kings with soldiers’ is coded as ‘nr kr yr zr’
‘Soldiers are strong leaders’ is coded as ‘zm lr zr cr’

Which of the following word is coded as “pr” in the given language?
A.Are
B.Soldiers
C.Great
D.Slaves
E.None of these

Which of the following code may represent “Soldiers with strength” 
in the given code language?
A.zr zm nm
B.nr zr zm
C.yr zr nm
D.None of these
E.zr yr nr
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Which of the following represents ‘Strong Kings’ in the given code language?
A.kr zm
B.zm yr
C.nr zm
D.zr yr
E.None of these

‘Great leaders are kings’ is coded as ‘lr mr kr cr’
‘Slaves are great soldiers’ is coded as ‘pr cr zr mr’
‘Weak kings with soldiers’ is coded as ‘nr kr yr zr’
‘Soldiers are strong leaders’ is coded as ‘zm lr zr cr’

Which of the following word is coded as “yr” in the given language?
A.Kings
B.Weak
C.With
D.Either B or C
E.None of these
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How many such symbols are there in the above arrangement each of which is immediately preceded 
by a vowel and immediately followed by a number? उपरोति व्यवस्था में ऐिे ककिने प्रिीक हैं क्जनमें िे 
प्रत्येक के ठीक पहले एक स्वर और ठीक बाद एक िंख्या है?
A.1
B.3
C.More than three
D.2
E.None

How many such numbers are there in the above arrangement each of which is immediately followed by 
a number and immediately preceded by a consonant? उपरोति व्यवस्था में ऐिी ककिनी िंख्याएँ हैं क्जनमें िे 
प्रत्येक के ठीक बाद एक िंख्या और ठीक पहले एक व्यंजन है?
A.1
B.None
C.3
D.More than three
E.2
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If all the symbols are dropped from the given arrangement, then which of the following element is 
7th from the right end? यदद द  गई व्यवस्था िे िभी प्रिीकों को हटा ददया जािा है, िो तनम्नसलखखि में 
िे कौन िा ित्व दायें छोर िे िािवें स्थान पर है?
A.T
B.F
C.P
D.B
E.None of these

Which of the following element is seventh to the right of sixth element from the left end?
तनम्नसलखखि में िे कौन िा ित्व बाएं छोर िे छठे ित्व के दायें िे िािवें स्थान पर है?
A.P
B.*
C.3
D.%
E.None of these
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